
SAMPLE QUESTIONS
(Science)

 

• There are 50 sample questions for each class while the actual paper will be of 100 questions

• Question paper is divided into 5 sections – Physics, Chemistry, Mathematics/Biology, English & Logical Reasoning 

• Every question has 1 correct answer

• There will be no negative marking

• All questions carry equal weightage

• Duration of actual exam (with 100 questions) will be 2 hours

• In the actual exam, please read the instructions given on the OMR sheet carefully and submit the completely filled 
OMR sheet before leaving the exam hall

•

•

In the actual exam, additional 10 minutes will be provided for reading the instructions and filling the OMR sheet.

In this sample paper, Mathematics and Biology students should only attempt/refer to Mathematics and
Biology sections respectively. Rest of the sections will be common for all students.
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 Section A – Physics 

1. A train has a speed of 60 km/h for the first

one hour and 40km/h for the next half hour.

Its average speed in km/h is

एक ट्र ेन में 60 ककमी / घंट्ा की गकि से एक घंटे् िक

चलिी है और अगले आधे घंटे् के कलए 40 ककमी / घंट्ा

। इसकी औसि गकि ______ककमी / घंट्ा है

a. 50 b. 53.33

c. 48 d.70

2. A projectile is thrown with velocity V at an

angle  with the horizontal. When the

projectile is at height equal to half of the

maximum height then the vertical component

of the velocity of projectile is –

एक प्रके्षप्य (प्रोजेक्टिल) को वेग V के साथ कोण पर

आड़ा फें का । जब प्रके्षप्यिा अकधकिम ऊंचाई के आधे

के बराबर ऊंचाई पर होिी है िो फें कने की गकि का

ऊर्ध्ााधर घट्क (वट्ीकल कॉम्पोनेन्ट) ककिना होिा है?

a. 3 v sin b. v sin

c. d. 

3. A car is moving with uniform velocity on a

rough horizontal road. Therefore, according to

Newton’s first law of motion

a. No force is being applied by its engine

b. A force is surely being applied by its engine

c. An acceleration is being produced in the car

d. The kinetic energy of the car is increasing

एक कार कै्षकिज सड़क पर एकसमान वेग के साथ आगे

बढ़ रही है। नू्यट्न के गकि के पहले कनयम के अनुसार

a. इसके इंजन द्वारा कोई बल लागू नही ंककया जा रहा है

b. एक बल कनकिि रूप से अपने इंजन द्वारा लागू ककया

जा रहा है

c. कार में एक त्वरण का उत्पादन ककया जा रहा है

d. कार की काइनेकट्क ऊजाा बढ़ रही है

4. A simple pendulum has a time period T1

when on the earth’s surface, and T2 when

taken to a height R above the earth’s surface 

where R is the radius of the earth. The value of 

T2 / T1 is    

एक साधारण पेंडुलम में पृथ्वी की सिह पर समय की 

अवकध T1 होिी है और T 2 जब उसे पृथ्वी की सिह के 

ऊपर R ऊंचाई पर ले जाया गया (जहां R पृथ्वी का 

किज्या है) । T2 / T1 का मान होगा  

a. 1 b. v2

c. 4 d. 2

5. If energy (E), velocity (v) and force (F) be taken

as fundamental quantity, then what are the

dimensions of mass

यकद ऊजाा (E), वेग (V) और बल (F) को मौकलक मािा

के रूप में कलया जाए, िो द्रव्यमान (मास) के आयाम

क्या हैं?

a. Ev2 b. Ev–2

c. Fv–1 d. Fv–2

6. In the figure shown, a cubical block is held

stationary against a rough wall by applying a

force 'F' then incorrect statement among the

following is –

a. Frictional force, f = Mg

b. F = N, N is normal reaction

c. F does not apply any torque

d. N does not apply any torque

कदखाई गयी आकृकि में, एक घनीय ब्लॉक को 'F' बल 

को लागू करके ककसी दीवार के क्टखलाफ क्टथथर रखा गया 

है,िो कनम्नकलक्टखि में गलि कथन कौन सा है ? 

a. घर्ाण बल, f = Mg

b. F = N, N सामान्य प्रकिकिया है

c. F ककसी बलाघरू्ण पर लागु नही ंहोि
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d. N ककसी बलाघरू्ण पर लागु नही ंहोिा

7. What will be the acceleration due to gravity

on the surface of the moon if its radius is 1/4th

the radius of the earth and its mass is 1/80th

the mass of the earth.

चन्द्रमा की सिह पर गुरुत्वाकर्ाण के कारण त्वरण क्या

होगा यकद इसकी किज्या पृथ्वी की किज्या से 1/4 है और

इसका द्रव्यमान पृथ्वी के द्रव्यमान 1/80 है।

a. g/6 b. g/5

c. g/7 d. g/8

8. The periodic time of a simple pendulum of

length 1 m and amplitude 2 cm is 5 seconds.

If the amplitude is made 4 cm, its periodic

time in seconds will be

1 मीट्र लंबाई और 2 सेमी आयाम (एम्पलीटू्ड) के एक

सरल पेंडुलम का आवकधक समय 5 सेकंड है। यकद

आयाम 4 सेंट्ीमीट्र कर कदया जाये िो इसका आवकधक

समय ________ सेकंड होगा

a. 2.5 b. 5

c. 10 d. 5

9. A 50 g bullet moving with velocity 10 m/s

strikes a block of mass 950 g at rest and gets

embedded in it. The loss in kinetic energy will

be

10m/s के वेग से चलने वाली 50g बुलेट्, एक 950g

कंुदे में घुस जािी है । बिाइये गकिज ऊजाा में ककिना

नुकसान होगा?

a. 100% b. 95%

c. 5% d. 50%

10. Two circular discs A and B of equal masses

and thickness but made of metals with

densities dA and dB (dA > dB). If their

moments of inertia about an axis passing

through the centre and normal to the circular

faces be IA and IB, then

बराबर द्रव्यमान (मास) और मोट्ाई के दो गोल कडस्क

A और B, जो अलग घनत्व, वाली धािु से बने है और

कजनका घनत्व dA और dB (dA > dB) है। यकद उनके

जड़तावघरू्ण कें द्र से गुजरने वाली एक धुरी और

वृत्ताकार अग्र-भाग पर IA और IB हो, िो

a. IA = IB b. IA > IB

c. IA < IB d. IA  IB

Section B – Chemistry 

11. Which of the following is true about gaseous

state

a. Thermal energy = Molecular attraction

b. Thermal energy >> Molecular attraction

c. Thermal energy << Molecular attraction

d. Molecular forces >> Those in liquids

गैसीय अवथथा के बारे में कनम्नकलक्टखि में से कौन सा

सही है

(ए) िापीय ऊजाा= आणकवक आकर्ाण

(बी) िापीय ऊजाा>> आणकवक आकर्ाण

(सी) िापीय ऊजाा << आणकवक आकर्ाण

(डी) आक्टिक बल > िरल पदाथा में वे

12. Calculate the temperature at which 28 gm N2

occupies a volume of 10 litre at 2.46 atm-

उस िापमान की गणना करें कजस पर 28 ग्राम N2, 10

लीट्र की मािा में, 2.46 एट्ीएम में रहिी है-

a. 300 K b. 320 K

c. 340 K d. 280 K

13. In Ca atom how many e– contains these

values—

Ca के परमाणु में ककिने e– इन मूल्ो ंवाले होिे हैं -

(i) = 0,2

(ii) m = +1,2

(iii)2s = + 1/22

a. 8, 8, 102 b. 8, 4, 102

c. 6, 4, 122 d. 8, 2, 10

14. Which is the correct alternate for hydrolysis

constant of NH4CN

NH4CN के जल अपघट्य क्टथथरांक के कलए सही

वैकक्टिक कौन सा है

a.   
     b.

c. d. 

15. Which of the following is the strongest

oxidising agent
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कनम्न में से कौन सी सबसे मजबूि ऑक्सीकरण कारक 

है 

16. Heavy water freezes at

भारी पानी जम जािा है

a. 0°C b. 3.8°C

c. 38°C d. – 0.38°C

17. Setting of plaster of paris is

a. Oxidation with atmospheric oxygen

b. Combination with atmospheric CO2

c. Dehydration

d. Hydration to yield another hydrate

प्लास्टर ऑफ़ पेररस का जमाव है

(ए) वायुमंडलीय ऑक्सीजन के साथ ऑक्सीकरण

(बी) वायुमंडलीय CO2 के साथ संयोजन

(सी) कनजालीकरण  

(डी) एक अन्य हाइडर ेट् उपज के कलए जलयोजन 

18. The relation between E and H is

E and H के बीच का संबंध है

a. H = E - P V

b. H = E + P V

c. E = V + H

d. E = H + P V

19. In the concentration of B is increased at fixed

temperature, in the reaction A + 2B ∪ C + 3D,

the equilibrium constant of backward reaction

–

a. decreases

b. increases

c. remains unchanged

d. first increases then decreases

अकभकिया A + 2B ∪ C + 3D में B की संकें द्रण में

क्टथथर िापमान पर वृक्टि हुई है, पिविी अकभकिया का

साम्य क्टथथरांक -

(ए) घट् जािा है

(बी) बढ़ जािा है

(सी) अपररवकिाि  

(डी) पहले बढ़ जािा है कफर घट् जािा है 

20. For the following gaseous reaction 

 , the equilibrium constant – 

दी गयी गसैीय अभिक्रिया के भलए 
सतंलुन स्थिराकं होगा 
a. Kp > Kc

b. Kp < Kc

c. Kp = Kc

d. Kp = 1/Kc

FOR NON-MEDICAL STUDENTS ONLY 

Section C – Mathematics 

21. In a triangle, the longest side is 3 times the

shortest side. The third side is 10 more than

shortest side. If the minimum perimeter of the

triangle is 100 cm, then

a. Longest side > 48 cm

b. Shortest side < 16 cm

c. Third side  26 cm

d. none of these

एक किभुज में, सबसे लम्बी भुजा सबसे छोट्ी भुजा से 3

गुना है। िीसरी भुजा सबसे छोट्ी भुजा से कम से कम

10cm अकधक है, यकद किभुज का नू्यनिम पररकध 100

सेमी है, िो कफर

(ए) सबसे लम्बी भुजा > 48 सेमी

(बी) सबसे छोट्ी भुजा <16 सेमी

(सी) िीसरी भुजा  26 सेमी

(डी) इनमें से कोई नही ं

22. If x! = 2.5.8.9.10, then the value of x is:

यदद x! = 2.5.8.9.10,  तो x का मान ननकाभलये:

a. 10

b. 5

c. 6

d. none of these

23. A polygon has 44 diagonals. The number of

its sides are:

एक बहुभुज में 44 कवकणा हैं। इसके भुजाओ ंकी संख्या

होगी :
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a. 13 b. 10

c. 22 d. 11

24. The argument of the complex number i is :

सक्टिश्र संख्या ‘I’ का कोणांक है:

a. 300

b. 600

c. 900

d. Cannot be defined.

25. Solution set of the inequalities 2x – 1  3 and

3x + 1  – 5 is

असकमकाये 2x – 1  3 and 3x + 1  – 5 का हल

समूह है

a. (–2, 2)

b. [–2, 2]

c. ∪

d. ∪

26. The solution of  lines in  

a. b. 

c. d. 

27. The equation of the circle with centre (3, –2)

and passing through (1, 2) is: a. (x + 3)2 + (y –

2)2 = 20

कें द्र (3, -2) और कबंदु (1, 2) से गुजरने वाले वृत्त का

समीकरण होगा

b. (x – 3)2 + (y – 2)2 = 12

c. (x – 3)2 + (y + 2)2 = 20

d. (x + 3)2 + (y + 2)2 = 12

28. The perpendicular distance of the line x – y =

4 from (0, 0) is

रेखा x – y = 4 की (0, 0) से लम्बवि दूरी है

a.

b. 2

c.

d. none of these.

29. If the coefficients of x5 and x6 in (1 + x)n  are

equal, then n is equal to

यकद  (1 + x)n  में x5 और x6  के गुणांक बराबर हैं, िो

n =

a. 12

b. 11

c. 30

d. none of these.

30. If A is the A.M. between a and b. Find the

value of

यदद a और b का सामानांतर माध्य A है तो ननम्न
का मान ननकाभलये

a. – 4 b. 4

c. 8 d. – 8

FOR MEDICAL STUDENTS ONLY 

Section C – Biology 

21. The intermediate between glycolysis and TCA

cycle is

a. Pyruvic acid

b. Acetyl-CoA

c. Oxaloacetate

d. Glucose 1-6 diphosphate

ग्लाइकोकसस और ट्ीसीए चि के बीच मध्यविी है

a. पाइरूकवक एकसड

b. एकसट्ाइल- CoA

c. ऑग्जलोएकसट्ि

d. गू्लकोज 1-6 कडफोफोसेट्

22. Lichens are well known combination of an

alga and a fungus where fungus has

a. An epiphytic relationship with the alga

b. A parasitic relationship with the alga

c. A symbiotic relationship with the alga

d. A saprophytic relationship with the alga

लाइकेन /शलै , शवैाल और  कवक का एक प्रभसद्ध 
सयंोजन हैं,  जहां कवक है : 
a. एल्गा के साथ एक अकधपादपीय संबंध है

b. एल्गा के साथ एक परजीवी संबंध है

c. एल्गा के साथ एक सहजीवी संबंध है

d. एल्गा के साथ एक मृिजीवी संबंध है

23. Phycoerythrin, chlorophyll ‘a’ and chlorophyll

‘d’ are characteristics of

a. Chlorophyceae

b. Xanthophyceae
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c. Phaeophyceae

d. Rhodophyceae

फैकोइरीथ्रीन, क्लोरोकफल 'a' और क्लोरोकफल

'd'_______ की कवशेर्िाएं हैं

a. पर्णहररत
b. पीतहररत शवैाल
c. कफओफाइसी/बि ुशवैाल वगण
d. रोडोफाइसी/ लाल शवैाल वगण

24. Sound-producing organ of birds is

a. Syrinx b. Larynx

c. Pygostyle   d. Synsacrum

पकक्षयो ंका र्ध्कन उत्पादन करने वाला अंग है

a. कसररंक्स b. लैररंक्स

c. पायगोस्टाइल d. कसंसेिाम

25. The leaves of Utricularia plant are modified

into

a. Bladders b. Tendrils

c. Hooks   d. Pitchers

यूकट्र कुलररया प्लांट् की पकत्तयााँ ककसमे उपांिररि है

a. आशायी /िैलीसम b. प्रतान
c. शलू d. घट

26. Purine bases of DNA include

a. High Uracil and guanine

b. Adenine and cytosine

c. Guanine and adenine

d. none of these

कनम्न डीएनए के पू्यररन में शाकमल हैं

a. उच्च यूराकसल और गुआनीन

b. एकडकनन और साइट्ोकसन

c. गुआनीनऔर एकडकनन

d. इनमें से कोई नही ं

27. The enzyme that fixes atmospheric CO2 in C4

plants  is

a. RuDP carboxylase

b. RuDP oxygenase

c. PEP carboxylase

d. Hydrogenase

एंजाइम जो C4 पौधों में वायमुडंलीय CO2 को 
ननयत करता है 

a. RuDP काबोक्टक्सलेज

b. RuDP ओक्टक्सजनेज़

c. PEP काबोक्टक्सलेज

d. हाइडर ोजेनेज़

28. Pineal gland produces

a. Melatonin b. Aldosterone

c. Cortisone d. Glucagon

शीर्णग्रथंि_____ बनाती है 
a. मेलाटोननन b. एल्डोसे्टरोन

c. कॉकट्ासोन d. गू्लकागन

29. The bryophytes lack true

a. Roots b. Stems

c. Leaves d. All of these

कियोफाइट््स में ये नही ंहोिे

a. जड़ें b. िना

c. पकत्तयां d. ये सभी

30. The gynoecium in which the carpels are free

from each other is said to be

a. Apocarpous b. Free central

c. Syncarpous   d. Polyandrous

जो जायांगीय (गायनोकशयम) कजसमें अंडप (कापाल्स)

एक-दूसरे से जुडे़ नही ंहोिे, उन्हें कहा जािा है

a. ववयकुतांडवप b. मकुतथताम्िीय
c. यकुतांडवप d. पॉलीडंर स

Section D – English 

Directions (Q.nos. 31 to 34) Complete this 

passage by selecting the most suitable 

word/phrase from list to fit the corresponding 

gap. 

The 31. _ of India as an economic super 

power is not reflected in the  32. _ of life 

enjoyed by its 1.2 billion citizens, according to 

the Human Development Index, which 33. _  _ 

India very low among 182 countries. In our 

performance- oriented world, measurement 

issues have taken on  34. _  _ importance as 

what we measure affects what we do. 
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31. Which of these fits gap 14?

a. quality b. spirit

c. span d. joy

32. Which of these fits gap 15?

a. scored b. qualified

c. regard d. ranked

33. Which of these fits gap 16?

a. great b. unduly

c. trivial d. considerably

34. Which of these fits gap 13?

a. pursuit b. perception

c. conversion d. title

Directions (Q.nos. 35 & 40) Read the 

following information in passage and answer 

the questions given below. 

Canopy of Nature 

Dad decided last Sunday that we should all go 

on a camping trip. 

He read an article in the Sunday paper about 

camping and how it “brings families together 

under the canopy of nature.” 

“Overrated,” I joked. “What about the canopy 

of television or the canopy of restaurant 

food?” 

“This will be good for us,” Dad said, sliding the 

magazine across the coffee table. “Let’s go 

next weeked.” 

I shot quick look over at my little brother, 

Paul. He gave me a slow eyebrow raise which 

meant, “This will probably not go off 

completely as planned.” 

My smile back said, “But it will surely be fun.” 

I started to think back. Once Dad decided we 

should all learn how to canoe. We borrowed 

two canoes from our friends, hoisted them on 

the van and drove for three hours to a 

secluded lake in Virginia. Alone in the middle 

of nowhere, we discovered that we had 

forgotten the paddles. 

Paul and I got in a canoe with Dad and our 

two younger sisters got in a canoe with Mom. 

We floated aimlessly around the lake for 

hours. Then, we all jumped in with our life 

jackets on. We pushed the canoes back to 

shore. It was a fantastic trip. 

Another time, Dad decided we should all learn 

how to ski. All of us hate the cold so we spent 

the weekend huddled by the fire, drinking hot 

coca in the ski lodge and playing board 

games. It was great. We had a blast. 

When Istopped day dreaming, Mom was 

saying, “Sweetheart, we don’t have a tent.” 

“We don’t need one!” Dad said happily. “We’ll 

take all the seats out the van when we get to 

the campsite and put in an air mattress.” 

I don’t know what the punch line will be on 

this excursion, but I am sure with Mom, Dad 

and the four of us kids scrunched in a van at 

some national park, we are bound to have a 

good time. 

35. Which best describes the narrator’s tone?

a. Condescending b. Sarcastic

c. Jovial d. Annoyed

36. The narrator probably says the camping trip

will have a punch line because he or she feels

it will

a. be expensive

b. have difficulties

c. have a funny ending

d. involve fighting and turmoils

37. As used in the middle of the story, which of

the following could accurately be described as

secluded?

I. A hiking trail known only to a few.

II. A crowded movie theater.

III. A popular beach on the California coast.

a. Only I b. I and II

c. II and III d. All of these

38. As used at the end of the story, which is the

best synonym for excursion?
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a. Evolution

b. Exodus

c. Expedition

d. Hiatus

39. What lesson does the narrator’s family seem

to live by?

a. Camping is sure to be an adventure

b. Danger is only in the imagination

c. Things don’t need to go as planned to

have fun

d. Reading the newspaper is a recipe for

trouble

40. Which alternate title fits this passage best?

a. “No Paddles”

b. “Never as Planned”

c. “Hot Coca by the Fire”

d. “Van Camping for Beginners”

Section E – Logical Reasoning 

In the following questions 41 to 45 questions 

numbers are arranged in a series with come 

principles understanding it. One term in the 

series is missing as shown by . This term is 

given as one of the alternative amongst the 

four numbers given below it. Find this term and 

show your answer against the question number 

on the answer sheet. 

ननम्नभलखित प्रश्नों में प्रश्न सखं्याएं41 से 45  एक 
श्रंिला में व्यवस्थित की गयी है । श्रंिला में एक 
अकं गायब है । यह अकं नीचे ददए गए चार 
ववकल्पों में से एक है । इसे ढंूढें और उत्तर पत्र में 
प्रश्न सखं्या के के सामने उत्तर इंथगत करें

41. 1, 12, 18, 25,  , 52 

a. 32 b. 33

c. 35 d. 34

42. 9, 16, 25, 36,  , 64, 81 

a. 407 b. 427

c. 467 d. 49

43. 2, 2, 4, 12, 48,  .777777

a. 2407 b. 2207

c. 1927 d. 200

44. 25, 22, 18, 13, 7, . 

a. 17 b.727

c.737 d.70

45. 8, 27, 64, 125,  , 343, 512

a. 150 b. 220

c. 216 d. 180

In question 46 to 50, English alphabets are 

given digital numbers. Using them, find the 

correct code of other English words from the 

alternatives. 

प्रश्न 46 से 50 में, अगं्रेजी वर्ों को अकंीय सखं्या 
में कोडडत क्रकया गया है । कोड का प्रयोग कर , 

ददए गए अगं्रेजी वर्ो का ववकल्पों  से सही कोड 
ननकालें  

46. TAKE = 3456, KAML = 5479 , MAKE=?

a. 7465 b. 7456

c. 7546 d. 7564

47. DOG = 467, CAT = 321 , GOT= ?

a. 716 b. 761

c. 671 d. 617

48. A = 1, B = 2, C = 3, D = 4, E = 5, F = 6, G = 7,

H = 8, I = 9 and BCGH = 2378, CDHI= ?

a. 3498 b. 3849

c. 3489 d. 3894

49. CAMEL = 34567, METAL = 56847, LEMAT=?

a. 76584 b. 76458

c. 76548 d. 76854

50. HIDE = 8945, BDAF = 2416, DIBF=?

a. 4962 b. 4692

c. 4296 d. 4926
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